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1.8.0r - 55 1.8.1 - 852

Runtime (in hr) 0.17 0.24
Avg. Drain Rate 8.26K 8.18K
Peak Disk (GB) 3.89 4.96
Peak Memory (GB) 2.96 3.41
Avg. OPS 15.26K 14.15K
Avg. mem memcached (GB) 2.05 2.07
Avg. mem beam.smp (MB) 46.15 70.97
Latency—get (90th) (ms) 1.77 5.55
Latency-get (95th) (ms) 2.93 8.82
Latency-get (99th) (ms) 5.64 16.99
Latency-set (90th) (ms) 1.72 5.55
Latency-set (95th) (ms) 2.85 8.82
Latency-set (99th) (ms) 5.62 17.15
Latency-query (80th) (ms) NA NA
Latency—query (90th) (ms) NA NA
Latency—query (95th) (ms) NA NA
Latency—query (99th) (ms) NA NA
Latency—query (99.9th) (ms) NA NA
Avg. QPS 0 0
Rebalance Time (sec) 0 0
Testrunner Version jenkins—tahoe-2-client-1-421 jenkins-tahoe—1-client-1-497

mixed—sanity.loop / 1.8.0r-55-g80f24f2—-enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



ops/sec

ops/sec

24 41K=

19.53K =

14.65K =

9.77K =

4.88K=

A
L 9
[ ]
¥
1 }
Ly K8
it
&
...*

) )
400 600
————time (sec)———>

]
800

buildinfo.version
+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Number of ops per second

mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



I}
R
P
2
()
g g 2
5 & :
= b7
g 2 5
N o ®
e L >
Q O g
n_qvv_l <3
(@] [\ (%)
.|5 m
355
s I % L
> = =
g ® @ g
= o
° g
>0 e e =z
Il

ep queue size

°
.
°®
o0
oo
e
Se
.

800
mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012

600

400
—-———time (sec)——>

200

1.43M =

976.56K =

9zis ananb da

488.28K =



ep_diskqueue_drain

ep_diskqueue_drain

117.19K =

97.66K =

78.12K =

58.59K =

39.06K =

19.53K=

buildinfo.version
+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Total drained items on disk queue

. L] | ]
’ '1-: - :'",.'.' to. . sos 0 8 o,
. %0 o ol LI S ooe & eo0 00 ES o
..: 28 o o . :‘. *i?.:?.i.ﬂ-. -’d 'ﬁh .ag'-.o o;“?:*
". (X e’ .O:O:‘.. ..b;.”é’.- “. o o?oo‘&“. e ®» - -0:: :'
o . :— a': ﬁ%. :o e ° o. -.- ° ° ° . =
%, ® o
] ] ] ] ]
0 200 400 600 800

—-———time (sec)——>

mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



ep_bg _cfetched
]

ep_bg_fetched ops/sec

buildinfo.version

+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Number of items fetched from disk

J I J
200 400 600 800
_ 1 —_
time (SEC) mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



tmp_oom ops/sec

tmp_oom
T

buildinfo.version
+ 1.8.0r-55-g80f24f2—enterprise

- 1.8.1-852-rel-enterprise

Number of times temporary OOMs

200

)
400
————time (sec)———>

600

]
800

mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



ject

vb_active e

vb_active eject/sec

buildinfo.version

+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Number of times item values got ejected

J I J
200 400 600 800
_ 1 —_
time (SEC) mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



plica_eject
T

vb_re

vb_replica_eject/sec

buildinfo.version

+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Number of times item values got ejected

J I J
200 400 600 800
_ 1 —_
time (SEC) mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



ep_tap_replica_queue_backoff/sec

tap_replica_queue_backoff
o
]

ep_

buildinfo.version
+ 1.8.0r-55-g80f24f2—enterprise

- 1.8.1-852-rel-enterprise

Number of back-offs received per second
while sending data over replication
TAP connections

200

)
400
————time (sec)———>

600

]
800

mixed—sanity.loop / 1.8.0r-55-g80f24f2—-enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



vb_active resident_items_ratio

buildinfo.version

100.00 = + 1.8.0r-55-g80f24f2—enterprise

- 1.8.1-852-rel-enterprise

vb_active _resident_items_ratio

Percentage of active items cached in RAM

] ] ]
0 200 400 600 800

_ 1 —_
time (sec) mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



vb_replica_resident_items_ratio

buildinfo.version

dent items ratio

100.00 = + 1.8.0r-55-g80f24f2—enterprise

- 1.8.1-852-rel-enterprise

plica_resi

vb_re

Percentage of replica items cached in RAM

] ] ]
0 200 400 600 800

_ 1 —_
time (sec) mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



curr_items

curr_items

1.14M =

976.56K =

781.25K =

585.94K =

buildinfo.version
+ 1.8.0r-55-g80f24f2—enterprise
- 1.8.1-852-rel-enterprise

Number of items in bucket

200

]
400
—-———time (sec)——>

] ]
600 800

mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



cur_items_total

2.38M =
1.91M =
s}
ml buildinfo.version
qE) + 1.8.0r-55-g80f24f2—enterprise
.:l + 1.8.1-852-rel-enterprise
5
o
1.43M =
Total number of items
976.56K =
T |
0

) ] ]
200 400 600 800
— 1] —_
time (SEC) mixed-sanity.loop / 1.8.0r-55-g80f24f2—-enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



mem_used

5.59G =

4.66G =
buildinfo.version
¢ + 1.8.0r-55-g80f24f2—enterprise
;‘ i + 1.8.1-852-rel-enterprise

Engine's total memory usage

bytes

3.73G =
279G =
) ) ) )
200 400 600 800
————tme (sec)———> mixed-sanity.loop / 1.8.0r-55-g80f24f2—-enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012

O



cmd_get ops/sec

ops/sec

° o”
3 . °
PR
g o
L]
.. (] ..
(1]
L] ‘ : ':
o
'Y L
L] ° L] o :
P ., .:. q . :5
° °
. ‘ .. #° . 3:‘:.-0:.:.’..’..
. o o b T Teag o .
e ;‘.. “. .:. 3.. : " ’.a. °
. o laec RS 0w LA Sy,
008 wPes g0 @ oy o o'l
N o o9 @ ..&. - J:-
° ¢ ‘ o.:. 0.. ...' .N...“:......... "
. o ©® . o* o
° P ..ﬁ. ...‘..S.-.:'. .:.. t .
L] L[] ° L 14
. LX) : .?. ‘;\ :“ o° ° .
. X ¢ ‘“"'.::: ..
o ¥ DX
WAL S T
..O" o’ ® . ° °
° e ® o° °° o °
€ 0
-jq *® %o .
o 0 L) o
) L] L]

o: ::o . e
C TR
DHETL

o o 0°0°

3
.:‘.
eg °
° .A
e | %
‘ . ..‘ - .
‘ﬁ. . ? buildinfo.version
I . -+ 1.8.0r-55-g80f24f2—enterprise
o °%
o + 1.8.1-852-rel-enterprise
LY ¥
e
;.';", Cumulative number of retrieval reqs

]
800

)
200 400
—-———time (sec)———>

mixed-sanity.loop / 1.8.0r-55-g80f24f2—enterprise / 1.8.1-852-rel-enterprise / 06 Jun 2012



cmd_set ops/sec
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mixed-sanity.conf

# mixed 0.5M load, 0.1M hot reload, 0.5M access creates, no draining
#

# system memory: 20G per node

performance.eperf.EPerfClient.test_eperf_mixed
params:

# general

batch=50
kind=nonjson
mem_quota=20000
spec=mixed-sanity

# load phase
hot_init_items=100000
items=500000

# access phase

# Read:Insert:Update:Delete Ratio = 50:4:40:6.
ratio_sets=0.5
ratio_misses=0.05
ratio_creates=0.08
ratio_deletes=0.13
ratio_hot=0.05
ratio_hot_gets=0.0995
ratio_hot_sets=0.0995
ratio_expirations=0.03
max_creates=500000

# control (defaults: pytests/performance/perf_defaults.py)
load_wait_until_drained=1

loop_wait_until_drained=0

mcsoda_heartbeat=3

tear_down=1

tear_down_proxy=1

tear_down_bucket=0

tear_down_cluster=1

tear_down_on_setup=0



tahoe—dedicated—-2.ini
[global]
username:root
password:couchbase
port:8091

data path:/data

[servers]
1:192.168.0.22
2:192.168.0.23

[clients]

1:192.168.0.27
2:192.168.0.28
3:192.168.0.29

[membase]
rest_username:Administrator
rest_password:password



